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1) /K iR :RET226~24.0C, KERETI17.9~19.8CO&EHMIZH -7,
2) ¥ 4y EKET26.5~32.7, JERET 33.3~33.6 DFHIZH T,
3) DOGAE FEEER) « B T7.4~9.3 mg/L (EEEHFIEE 99, 2~121. 0%),
JECRE T 4. 2~6. Ime/L (BEFEAAFIE 54. 0~86. 4%) OFEFHTH Y, ax
St.1, 2, 5, 8 DEBIBLVSL. 2, 8D 20m/JE THRERAKMEHES
Tz,
4) HERSRERIE . REBIILA T OfEHICH - 72,
DY EEHEY > (PO,P) : FEET1lug/LLLT,

BT 1 g/l Kiifi~23 ug/L
Q@7 E=THEEHE NH,N) : EETI~6ug/L, P 3
JEEJE T 4~66 1 g/L
QERYRAEZEE (N0, N) : KETlug/LUT, S EE

JERT1ue/L Rif~12ug/L
@ORYSELREZE S (NO,N) : BT 1 ug/L K,
KT 1ug/L Riw~20 ung/L

HERRE
St.| BEy [MIERE|ZHE]| K & [H 45| pH DO DO PO,~P | NH,-N | NO,~N | NO,-N
AKEmM| () (m) (°C) (mg/L) (%) | (ueg/L) ]| (ug/L) | (ng/L)| (ng/L)
9/1 0 22.6] 32.2[ 8.2 7.4 99. 2 <1 4 <1 <1
1| 8:02 10l 10.0| 22.3] 32.71 8.2 7.5 99.7 <1 6 <1 <1
32.5 20 20.0| 33.4f 8.1 7 d 91.6 5 8 2 2
31.5 18.7] . 33.5]1 8.1 5.7 72.7 16 39 12 10
9/1 0 23.3] 29.9] - 8.3 8.5 113.9 <1 2 <1 <1
2 | 14:49 10 40| 21.5 32.8 8.1 7.0 92.8 <1 7 <1 1
24.5 20 19.7] 33.4| 8.0 5.6 71.5 10 37 5 13
23.5 19.3] 33.4] 8.0 4.4 55.9 23 66 10 20
0 22.6] 32.7] 8.2 7.4 99. 2 <1 5 <1 <1
9/1 10| 14.0| 22.7] 32.8] 8.2 7.4 99. 3 <1 6 <1 <1
3| 8:49 20 22.5| 32.8] 8.2 7.4 99. 4 <1 6 <1 ¢!
39.5 30 19.7] 33.2] 8.2 8.0 102.6 <] 7 <1 <1
38.5 18.1] 33.6] 8.1 6.6 83.3 7 15 7 5
9/1 0 22.8] 32.7[ 8.2 7.4 100.1 <1 6 <1 <1
4 | 14:07 10 11.0| 22.6] 32.7 8.2 7.4 99.9 <1 5 <1 <1
28.5 20 21.8] 33.1| 8.2 7.6 101.3 <1 6 <1 <1
27.5 19.8] 33.4] 8.1 6.5 83.8 <1 5 <1 <1
9/1 0 23.5] 30.4] 8.3 8.0 107.6 <1 1 <1 <1
5|13:46 100 50| 22.1] 32.9] 8.2 7.4 98.5 <1 5 <1 2
22.5 | 21.5 19.3] 33.3] 7.9 4.2 54. 0 14 43 7 19
0 22.7] 32.7] 8.2 7.4 99.5 <1 5 <1 <1
9/1 100 12.0 | 22.71 32.71 8.2 7.4 99.5 <1 6 <1 <1
6 | 9:35 20 21.2| 32.9 8.2 7.5 99.0 <1 6 <1 <1
33.5 30 17.9| 33.6] 8.1 1 89. 3 1 7 1 <1
32.5 17.9] 33.5] 8.1 6.8 84.8 2 8 3 3
9/1 0 23.6] 25.5 8.4 9.3 121.0 1 2 1 <1
7|13:05|- 10| 2.5| 21.9] 330 8.2 7.4 98. 0 <1 4 <1 <1
24.0 20 19.7] 33.3] 8.2 7.7 98.9 <1 4 <1 <1
23.0 19.2] 33.3] 8.1 6.5 82. 4 £1 4 < <1
9/1 0 23.9] 30.0[ 8.3 8. 2] 110.7 <1 2 <1 <1
8 | 11:48 10f 50| =225 32.5 82 7.3 97. 4 <1 6 <1 <1
29.0 20 18.9| 33.4] 8.0 5.8 73.8 12 50 5 13
28.0 17.9] 33.5] 8.0 5.4 67. 8 17 59 6 14
9/1 0 24.0] 29.7 8.3 8.4 113.3 <1 1 <1 <1
0 [12:20 10 40| 229 32.1 8.2 7.2 96. 6 <1 7 <1 1
31.0 20 19. 7] 33.4] 8.2 7: T 99.5 <1 10 <1 1
30. 0 18.4] 33.5] 8.1 6.9 86. 4 6 17 4 5




